
CPSC 303
,
Homework Solutions

(1) Joel Friedman

(2a) n = 13 : largest entry of 5-e-to-theA

(in absolute value (

in homework 2 sol . ext is roughly 1013 . (0 .477)

(2b) n = 13 , mysteriously , the analogue for

A = (i) has seemingly almost the same

largest entry in absolute value

(a) Typing "chaotic - sqrt(-2 ,

2
,
1000,1) ;

"

Cassuming you have saved chaoticesgrt . m

into the current working directory)
you get 1.00355 ...

/J

And chaotic
- sart(-2 ,

2
,
100000

, 1) ;
"

gives 1
,
00021

...

[Hote that this argees with the solution :




















